- -2
3
]
L o2
3
- 2
|
S 3 2 S °
2 2 2 B
(gw/) 22epms D T
- T
5 2
]
]
L N
3
5 BH]
1] | P N I i P |
S sccsesocsss e
g':28Rk823::=
(%) opaqe Aawiauey
-2
]
]
S
3
-2
I
S B} E >

20

g g &
(%) opaqre dupng

crelszon

T T T T
L s
3
- 4o 2
3
= BH]
Q
N
+~
1 1 1 1 wm
§ 3 g s g8 O
0 =
(£w/M) VOL D MS o
L s
3
- Ho 2
3
- -2
o
N
@
B 2 [}
b =
(guiym) 2ou4ms D MS o
,\
L ( 1s
]
S
- Ho 2
< 3
- -2
=
Qo
N
-
S
g 8 8 § 2 8 = ° o
(qw/M) YOLFUO MT o

T T T Tl
- 12 2
3 2
S E]
- o2 -
3 3
o °
[ Bkg %
= o)
Q N
R N Lol bl @
) ) ) ° R
2 g 2 o 882”8232 8_=2 =
(Tu) xmp sy ware] = (9) =oepms w Hy ~
TTT TT T T
- -2 - -2
3 3
- ER - 12
3 3
L g o
Q =
N Q
Lol Ll Ll I = N
+ 1 1 1 L 0
ERERBIRRCSRTEREE 05 e 3 8 F 5 &
(Tu/M) VOL A Pl (9] (Tw/m) xmyy jeay afqisuag ~
- 2 r 1%
3 k-l
- oZ - EEE
3 3
- 2 - -2
g ]
R Q
12 I I W
-~
= D s = = = > =
2 8 2 2 8
o - ’ = E
(Zuy ) 29ems YD [EI0L ] (Tw/a) ¥np ey [2i0) Jmg =

T T
= 8 = B
3 3
3 3
L o L 42
3 3
L 2 | e
| | m | 1
=3 S =4 2 ° 9 2 9
H g g g 78 R
(eqy) 2amssaid [aa2] vag o
T T T T T
L s - s
2 2
© 3
3 E}
| —° £ [ 1°E
g 3
=
L 4z r 1%
(@} TP R AR A R
1 1 1 1 RN ez 222 ==
s »® e T o o o § ¥ % ® 5 8 3
(Kepyunu) vonendioarg O (uya) Kys 1eap - waH g wny
- -2 = 12
o s
3 3
- e 2 o 1=£
3 3
2 L 1z
Q
N
L L W 1 L L 1
2 8 8§ 8 8§ 2 ° m.l g 2 & ° § § 8

g
(zwf) sowm oiqendioad

(Tw/m) FUD - Je2H "per wy

rahzon

rahcszon

rahcrezon



0 50

Latitude

-50

L
3
g
&

(Twym) H AT WY

100
150

250

i

0 50

Latitude

-50

150
200

1
=)
8

(Tw/m) AYs 38210 - “TBOH MT WY

250

0 50

Latitude

-50

S
3

L
> = o )
& F

g
(TwW/A) AAD - TH MT Uy

2
8

rlahzon

rlahcszon

rlahcrezon

T TT T
- -2 - %
3 3
3 3
L sz L e
=]
N
L 0 LLLLLl LLLL L
g g D gRerasseTasaTeRSaTess
(gui/p) 2oepng 10 dny ] = (TW/AN) FAD - WIH MS WY
% - -2
3 s
El E
- —eo 2 - o2
E Kl
- =
- -2 - -2
Q
N
I n I I
S ) S ° S = ) )
g g g g g g 2
(Tui/an) DASUMOPM'T ~ (zw/m) ¥10
x -2 -2
3 3
El E
r e e =
3 3
° °
r mkg o %
o
N
w0
Q
I n I I
g g g ° g ) 2 °
8 g E =8 2 g 2
(Twi/m) DASUMOPWT SO — @uym) A0 A4S 21D

rsahcrezon

rlutzon

rlutcszon

T T T T
- % - -2 - 2
3 3
] ] $
r 1°£ r e - °oF
3 3 3
- —H®2 - -8 e
Q
X =i
n Q ]
O N
I [ [ 0 L Ll + |
g ¢ g g g g g T 2938333883283 3° ] - L
g 4 2 & 8 £ =2 n aaagzicsEesa n ¥ B
(AYSIRRID 23J5 18 UPMSUW/A) ASTEAD 20JS 1 UPMS —~ (Qu/M) VOL P& MS premdn ~ (D) LSS
&
2
L g L E de L ds
2 & 2
Z
£
-
J %+ 2
2 £ @
e O .
SR 2
S2EF .
R
L) - R-"R = o )
3 2 kT PE 3 3
] SRR S L -
r 1°z NEESEE| °% g
3 SEZS:s 3 3
Z2 2222
<< UUU
L g dg - —2
O n
Q Q
I < 1 1 1 m L1 L 1
2 s e 2 B > 288 ° &% 8 8 §
kel 0" a & = m - - = 59
- (zuy ) VOL FI10L MS oY ~ (Tw/m) VOL uonempey 2oL,
T T
- % - -2 - %
9 s 9
] 3 ]
- {2t 4oz - -2
3 3 E
L dg L g - 412
Q
N =
wn L
) Q
IR N R N Y M R R N N R R | mﬂowwwwwwo
28888238 °§ ©g g g8 2 8 8 °© 2 4 8 2 =2 " wos
2= ! ne & & = = 1751 -
(Twi/M) £4s 121D - TLOH M Y — (ui/p) 20mpms per M [BOL —~ (gw/p) aoujims uoneiper Elo],



Temperature 2m (C)

40

0
Latitude

400

5200

500hPa geopotential height (m)
m

5000

0
Latitude

rttzon

0,25

02
0,15
0.1
0,05

-0.05
o1k g

Zonal wind stress (N/m2)
°

015 E
o2l I
-025 - - -

Meridional wind stress (N/m2)

006 . - L

-50 0 50
Latitude

tauuzon

-50 0 50
Latitude

tauvzon



